

MOR CONSTRUCTION 11.6
S21 CAST BAYES CHAPT
COLUMBIA, MS 19429
PHONE, GUI 731 2776.
FAX GDI 731 2776

November 12, 2018

Mr. Clint Brown Flordia Public Utilites Week Ending November 11, 2018 Foreman Johnny Martin Storm Number FE1890469751430

(3)				
Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck Drive	r	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	45,292.80
<u>Equipment</u>		Qty	Price	Total
Crew Cab Pick-up		112.00	24.31	2,722.72
Material Handler Buck	et 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
Rope Rig		112.00	25.00	2,800.00
Tension Trailer		112.00	25.00	2,800.00
		То	tal Equipment	26,206.88
			Total Meals	1,575.00
*		Tot	al Due to MDR	73,074.68



Johnny Martin

FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

	Men ar	ıd Hoı	ırs					То	tals		-	
Weekday	5	6	7	8	9	10	11			Meals	Motel	Other
Employee Name	M	T	W.	T	F	S	S	RT	ОТ			
Johnny Martin	16	16	16	16	16	16	16		112	315		Foreman
Shane Rankin	16	16	16	16	16	16	16		112	315		Lineman
Brandon Lawshe	16	16	16	16:	16	16	16		112	315		Lineman
Tyler Langham	16	16	16	16	16	16	16	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	112	315		Operator
Joey Dantin	16	16	16	16	16	16	16		112	615		Groundman
		To the second se				100 July 100		To the latest the same of the latest the lat		B. Make I.		
			And the second s	lve.		No.		A Deposition of the Control of the C			SEE PROPERTY OF THE PROPERTY O	
					The case of the ca					1575		

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero, if one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information									
Monday	GROOTAND ORGONAL									
Tuesday	6:00 AM - 10:00 PM	3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1								
Wednesday	6:00 AM - 10:00 PM									
Thursday	6:00 AM - 10:00 PM									
Friday	6:00 AM - 10:00 PM									
Saturday	6:00 AM - 10:00 PM									
Sunday	6:00 AM-10:00 PM									

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each

					EQUI	PMEN	T
Equipment #	M	Т	W	T	F	S	S
681 Crew Cab Pickup	16	16	16	16	16	16	,16
581 Material Handler Bucket	16	16	16	16	16	16	16
678 Material Handler Bucket	16	16	16	16	16	16	16
799 Digger Derrick	16	16	16	16	16	16	16
315 Pole Trailer	16	16	16	16.	16	16	16.
731 Rope Rig	16	16	16	16	16	16	16
730 Tension Trailer	16	16	16	16	16	16	16
						Ann a maria	
	4 40 - 30 -						

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

**Weekly Timesheet** 



Foreman Johnny Martin Job No FE1890469761430

Week Ending 11/11/2018 Location FPU Marianna Hurr, Michael

	Men ar	id Hoi	irs					To	tals			
Weekday	5	6	7	8	9	10	11			Meais	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	RT OT			- 11121
Johnny Martin	16	16	16	16	16	16	16					Line-Foreman
Shane Rankin	16	16	16	16	16	16	16					Line-Journeyman
Brandon Lawshe	16	16	18	16	16	16	16				Complication 1994	Line-Journeyman
Tyler Langham	16	16	16	16	16	16	16			tipomiașia less	Cla many tot	Equipment Operator
Joey Dantin	16	16	16	16	16	16	16	Age of the same	ii din patere	12 da (19. mars)		Line-Groundman
nervening in the rest of the last of the l											CHIRLICHES SE-SE.	and the state of t
and the same of th		1			2 2 / <del>Te - Nou</del> ral <del>1</del> 0 (ly		O'		*****			aritime to the second s
								p.m. y. 35 42 44 - 45	o o person and the			
is this engage provided shows lie				1								

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional

	Additional Info	rmation			
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL			
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL			
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL			
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL			
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL			
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL			
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL			

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was atom and part of it was your requisir job please give specifica for each

		_			EQUI	PMEN	7		
Equipment #	M	T	W	T	F	\$	S	To.	From
681 Crew Cab Pickup	16	16	16	16	16	16	16		1
581 Material Handler Bucket	16	16	16	16	16	16	16	. 11	of the contract of the contrac
378 Material Handler Bucket	16	16	16	16	16	16	16	1 1/2/	(C) 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
799 Digger Derrick	16	16	16	16	16	16	16		a alia dia dia dia mandri dan
315 Pole Trailer	16	16	16	16	16	16	16	1111	
731 Rope Rig	16	16	16	16	16	16	16	1,11011	The state of the s
30 Tension Trailer	16	16	16	18	16	16	16	na manin half	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last

MDR Construction

Weekly Timesheet



MOR CONSTRUCTION (6)
621 EAGT BAYITS CHAPT
COLUMBIA, MS 39327)
PHONE GOT 731 2773

November 12, 2018

Mr. Clint Brown Flordia Public Utilites

Week Ending November 11, 2018 Foreman Richie Culpepper Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck Driver	•	112.00	69.99	7,838.88
Groundman		224.00	64.62	14,474.88
			Total Men	52,530.24
<u>Equipment</u>		Qty	Price	Total
Crew Cab Pick-up	1,500	112.00	24.31	2,722.72
Material Handler Bucke	et 57'	224.00	47.36	10,608.64
Digger Truck	5.30%.42	112.00	47,36	5,304.32
Pole Trailer	1,577	112.00	17.60	1,971.20
	Z0,500.58	Tot	al Equipment	20,606.88
			Total Meals	1,890.00
nigas u anges ha a garja via	75377.13	Tota	I Due to MDR	75.027.12



Richie Culpepper

FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

	Men ar	nd Hou	ırs				71.0	Totals			
Weekday	5	6	7	8	9	10	11		Meals	Motels	Other
Employee Name	N	T	W	T	F	S	S	RT OT			
Richie Gulpepper	16	- 16	16	16	16.	16	16	112	315		Foreman X.2.5
Trey Ross	16	16	16	16	16	16	16	112	315	aprice thanks proses.	Lineman
Scott Sumrall	16	16	16	16	16	16	16	112	315		Uneman
Josh Walters	16	16	16	16	16	16	16	112	315		Operator
Chase Little	16	16	16	16	16	16	16	112	315		Groundman
Dustin Hudson	16	16	16	16	16	16	16	112	315		Groundman
			Indian litera di sec								
	9				SDBLCC: N		ECHIPATION A	Maria Dia più Giana de la parenti processi de la parenti	Mark Strucklinger		
						ar on the second	d Manhorine (C) to				
									1890		Total

in the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total frours for each employee and indicate any hours over 40 as overtime, if you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet

	Additional Information									
Monday	GROO ANNES COROTENAS									
Tuesday	6:00 AM - 10:00 PM									
Wednesday	6:00/AME-10:00 PM									
Thursday	6:00 AM - 10:00 PM									
Friday	6100/AM=10:00 PM									
Saturday	6:00 AM - 10:00 PM									
Sunday	6:00 AM - 10:00 PM									

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each

					EQUI	PMEN	T
Equipment #	IVI	T	W	T	F	8	S
550 Grew Cab Pickup	16	16	16	16	16	16	16
690 Material Handler Bucket	16	16	16	16	16	16	16
720 Material Handler Bucket	16	16	16	16	16	16	16
798 Digger Derrick	16	16	16	16	16	16	16
576 Pole Trailer	16	16	16	16	16	16.	18
When the control of t			1			1	
	A P 1002 SWOUN	Part Alexander		Tiche William			Landanier, e.
				K.			

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman	Richie Culpepper	Job No	FE1890469751430
Week Ending	11/11/2018	Location	FPU Merlanna Hurr. Michae

	Men ar	To	Totals								
Weekday	5	6	7	8	9	10	11			Meals	Other
Employee Name	M	T	W	T	F	S	S	RT	OT	5	
Richle Cuipepper	16	16	16	16	16	16	16				Line-Foreman
Trey Ross	16	16	16	16	16	16	16				Line-Journeyman
Scott Sumrall	16	16	16	16	16	16	16				Line-Journeyman
Josh Walters	16	16	16	16	16	16	16				Equipment Operator
Chase Little	16	16	16	16	16	16	16				Line-Groundman
Dustin Hudson	16	16	16	16	16	16	16				Line-Groundman
									-		
							-				

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Orive time should be represented under Other. Please provide specifics for multiple lob days in Additional Information, Regulations for reporting meals is tocated at the bottom of this sheet.

	Additional inform	iallon
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

and the second s				EG	UIPM	ENT		
Equipment #	M	T	W	T	F	S	8	
550 Crew Cab Pickup	16	16	16	16	16	16	16	
690 Material Handler Bucket	16	16	16	16	16	16	16	Acres as
720 Material Handler Bucket	16	16	16	16	16	16	16	
798 Digger Demick	16	16	16	16	16	16	16	1/12/8/0
576 Pole Trailer	16	16	16	16	16	16	16	
		e de la composition della comp	42.2					The straight of the straight o
			-					·////
		- 14	ar james one					

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



MOR CONSTRUCTION OF THE CHAPT GRAPT BAYES CHAPT COLUMBIA. ME 1990 CT. PHONE GOT 731 CT74

November 12, 2018

Mr. Clint Brown Flordia Public Utilites

Week Ending November 11, 2018
Foreman Ricky Broom Clean up #1
Storm Number FE1890469751430

Overtime		Qty	Price	Tatal
Groundman		560.00	64.62	<b>Total</b> 36,187.20
			Total Men	36,187.20
Equipment		Qty	Price	Total
Crew Cab Pick-up		336.00	24.31	8,168.16
Service Truck		112.00	35.75	4,004.00
18' Material Trailer		336.00	10.00	3,360.00
Dump Trailer	1,0.011	112.00	30.00	3,360.00
Skid Steer		112.00	50.00	5,600.00
		То	etal Equipment	24,492.16
			Total Meals	1,575.00
		To	tal Due to MDR	62,254.36



Ricky Broom/Clean up #1

FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

Parenta i	Men ar	nd Hou	ırs					To	tals			
Weekday	5	6	7	8	9	10	11			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ			
Christopher Czodi	. 16	16	16	16	16	16	16	¥**	112	3/15		Groundman
Andrew Pratt	16	16	16	16	16	16	16	21.000 THE VEN	112	315	CONTROL	Groundman
Parker Barlow	16	16	16	16	16	16	16		112	315		Groundman
Bobby Edwards	16	16	16	16	16	16	16	Con Vision Plants	112	315	-	Groundman
Lukas Dungan	-16	16	16	16	16	16	16		112	315		Groundman
						or desired to the state of the	Angele Wil- may 1) mane pa			- man 717 22		
			13-7-10			700	/zrank	Paral Spin				
				Approved the second of the sec						4696	*	
										1575	11	Total

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional information. Regulations for reporting meals is located at the bottom of this sheet.

		Additional Information
Monday	(6:00 AM = 10:00 PM	
Tuesday	6:00 AM - 10:00 PM	
Wednesday	6:00 AM = 10:00 PM	
Thursday	6:00 AM - 10:00 PM	
Friday	∰6,00 AM-10,00 PM	
Saturday	6:00 AM - 10:00 PM	
Sunday	6:00 AM = 10:00 PM	

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

27.8	EQUIPMENT											
Equipment#	M	T	W	T	F	S	S					
478 Grew Calo Pickup	16	16	16	16	16	16	16					
495 Crew Cab Pickup	16	16	16	16	16	16	16					
113 Service Truck	16	16	16	16	16	16	16					
368 18' Material Trailer	16	16	16	16	16	16	16					
403-18' Material Trailer	16	16	16	16	16	16	16					
764 18' Material Trailer	16	16	16	16	16	16	16					
503 Crew Cab Pickup	16	16	16	16	16	16	16					
305 Dump Trailer	16	16	16	16	16	16	16					
806 Skid Steer	16	16	16	16	16	16	16					

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Ricky Broom

Job No

FE18904697751430

Week Ending

11/11/2018

Clean up One

Location FPU Marianna Hurr. Michael

	Men at	id Hoi	irs					Tot	als	3	
Weekday	5	8	7	8	9	10	11	·	Carriera Diseases Server	Weals	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ	İs	A CHARLES
Christopher Czodi	16	16	16	16	16	16	16				Line-Groundman
Andrew Prait	16	16	16	16	16	16	16				Line-Groundman
Parker Barlow	16	16	16	16	16	16	16				Line-Groundman
Bobby Edwards	16	16	16	16	16	16	16				Line-Groundman
Lukas Dungan	16	16	16	16	16	16	16				Line-Groundman
The second secon	_			<del></del>							Chille Children
A					A PARTICIPATE STATE						
				teritorii Si e		N-STADAGE STA					
								and the same of			

In the spaces provided above list all employees' full name and traitis worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple lob days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet.

	Additional Inform	ation
Monday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL
Tuesday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL
Wednesday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL
Thursday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL.
Friday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL
Saturday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL
Sunday	Start 6:00 am thru 10:00 pm	Work at Marlanna, FL

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

				EG	<b>UIPM</b>	ENT	
Equipment #	M	T	W	T.	F	S	S
478 Crew cab pickup	16	16	16	16	16	16	16
495 Crew cab pickup	16	16	16	16	16	16	16
513 Service Truck	16	16	16	18	16	16	16
668 18' Trailer	16	16	16	16	16	16	16
403 18' Trailer	16	16	16	16	16	16	16
764 18' Traller	16	16	16	16	16	16	16
503 Crew Cab Pickup	16	16	16	16	16	16	16
805 Dump Traller	16	16	16	16	16	16	16
806 Skid Steer	16	16	16	16	16	16	16

**MDR** Construction

Weakly Timesheet



MOR CONSTRUCTION II.C 621 EAST BAYES CHAIR COLUMBIA, MS 354357 PHONE GOL 731 8710 FAX: 601 731 8774

November 12, 2018

Mr. Clint Brown Flordia Public Utilites Week Ending November 11, 2018
Foreman Ricky Broom Clean up #2
Storm Number FE1890469751430

Overtime		Qty	Price	Total
Groundman		560.00	64.62	36,187.20
			Total Men	36,187.20
<u>Equipment</u>		Qty	Price	Total
Crew Cab Pick-up		336.00	24.31	8,168.16
Service Truck		112.00	35.75	4,004.00
18' Material Trailer		224.00	10.00	2,240.00
Dump Trailer	3,354,00	112.00	30.00	3,360.00
Skid Steer		112.00	50.00	5,600.00
Series de la companya del companya del companya de la companya de	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1	Total Equipment	23,372.16
			Total Meals	1,575.00
		Т	otal Due to MDR	61,134.36



Ricky Broom/Clean up #2

FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

	Men ai	nd Ho	urs					To	tals			
Weekday	5	6	7	8	9	10	11			Meals	Motel:	Other
Employee Name	M	Т	W	T	F	S	S	RT	OT			
Brandon Curry	1 16	16	16	16	16	16	16		112	315		Groundman
Chase Durham	16	16	16	16	16	16	16	- Application	112	315		Groundman
Anthony Misconi	16	16	16	16	16	16	16.		112	315		Groundman
Coleman Bumpas	16	. 16	16	16	16	16	16	The state of	112	315	EMESTAL I	Groundman
Kalif Alford	16	16	16	16	16	16	16		112	315		Groundman
			### 10 A 1					yezini Vezin				
The state of the s											212 Frankland	
					- market							
										1575		

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional	Information
Monday	6:00 AM = 10:00 PM	
Tuesday	6:00 AM - 10:00 PM	10.4645
Wednesday	6:00 AM = 10:00 PM	
Thursday	6:00 AM - 10:00 PM	
Friday	6:00-AM=10:00-PM	
Saturday	6:00 AM - 10:00 PM	
Sunday	6:00-AM=10:00 PM	

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each

High and the second					EQUI	PMEN	T
Equipment #	M	T	W	T	F	S	S
1003 Crew Cab Pickup	16	16	16	16	16	16	<b>(6)</b>
1004 Crew Cab Pickup	16	16	16	16	16	16	16
E1001 Service Truck	16	16	16	16	16	16	16
409 18' Material Trailer	16	16	16	16	16	16	16
548 18 Material Trailer	16	16	16	18	16	16	16
804 Dump Trailer	16	16	16	16	16	16	16
1005 Crew Cab Pickup	16	16	16	18	16	16	16
E1002 Skid Steer	16	16	16	16	16	16	16

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week, Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer. Weekly Timesheet

MDR Construction



Ricky Broom

Job No

FE18904697751430

Week Ending

11/11/2018

Clean up Two

Location FPU Marianna Hurr. Michael

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Men a	nd Hoi	ırs					Totals		3	
Weekday	5	6	7	8	9	10	11			leais	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ	İs	
Brandon Curry	16	16	16	16	16	16	16				Line-Groundman
Chase Durham	16	16	16	16	16	16	16				Line-Groundman
Anthony Masconi	16	16	16	16	16	16	16				Line-Groundman
Coleman Bumpas	16	16	16	16	16	16	16				Line-Groundman
Kalif Alford	16	16	16	16	16	16	16	****	ola Pita		Line-Groundman
			<del>an wellich</del> e			450000000000000000000000000000000000000					

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple lob days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

Additional Information								
Monday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						
Tuesday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						
Wednesday	Start 6:00 am thru 10:00 pm	Work at Marlanna, FL						
Thursday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						
Friday	Start 6:00 am thru 10:00 pm	Work at Marlanna, Fl.						
Saturday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						
Sunday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						

List above any additional information needed, if you work on several circuits specify how many hours on each circuit for each day, if a circuit or job. is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

		A Designation of		UPM	CIA 1		
M	T	W	Ť	F	8	8	
16	16	16	16	16	16	16	SELECTION OF THE PROPERTY OF T
16	16	16	16	16	16	16	1 AVaz
16	16	16	16	16	16	16	V Nm
16	16	16	16	16	16	16	Martin
16	16	16	16	16	16	16	10/18
16	16	16	16	16	16	16	11/1/2
16	16	16	16	16	16	16	
16	16	16	16	16	16	16	
	16 16 16 16 16 16 16	16 16 18 16 16 16 16 16 16 16 16 16 16 16	16     16     16       16     16     16       16     16     16       16     16     16       16     16     16       16     16     16       16     16     16       16     16     16	16     16     16     16       16     16     16     16       16     16     16     16       16     16     16     16       16     16     16     16       16     16     16     16       16     16     16     16       16     16     16     16	16     16     16     16     16       16     16     16     16     16       16     16     16     16     16       16     16     16     16     16       16     16     16     16     16       16     16     16     16     16       16     16     16     16     16       16     16     16     16     16	16     16     16     16     16     16       16     16     16     16     16     16       16     16     16     16     16     16       16     16     16     16     16     16       16     16     16     16     16     16       16     16     16     16     16     16       16     16     16     16     16     16       16     16     16     16     16     16	16         16<

**MDR** Construction

Weekly 16 mesheat



MED CONSTRUCTION IN 621 EAST BAYES CHAIN COLUMBIA, MS 39427 PHONE GUI VII 2716 FAX 601 VII 2774

November 12, 2018

Mr. Clint Brown
Flordia Public Utilites

Week Ending November 11, 2018
Foreman Ricky Broom Clean up #3
Storm Number FE1890469751430

Overtime	Qty	Price	Total
Groundman	560.00	64. <del>6</del> 2	36,187.20
		Total Men	36,187.20
<b>Equipment</b>	Qty	Price	Total
Crew Cab Pick-up	336.00	24.31	8,168.16
Digger Truck	336.00	47.36	15,912.96
Rope Rig	112.00	25.00	2,800.00
	1	otal Equipment	26,881.12
The second of the second of		Total Meals	1,575.00
	T	otal Due to MDR	64,643.32



Ricky Broom/Clean up #3

FE1890469751430

Week Ending

11/11/2018

Location

Florida Public Utilities

Men and Hours								То	Totals			
Weekday	5	6	7	8	9	10	11			Meals	Motels	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			
Mykel Magee	16	=16,	16	16	-16	16	16		112	315		Groundman 💘
Matthew Coker	16	16	16	16	16	16	16		112	315		Groundman
loshua Smith	16	16	16	16	16	16	16		112	315		Groundman
-lunter Guthrie	16	16	16	16	16	16	16		112	315	and the same of th	Groundman
Justin Guthrie	16	16	16	.16	16	16	16		112	315		Groundman
							Total Salah					
										1575		108

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet

		Additional Information
Monday	6:00-AM -40:00 PM	
Tuesday	6:00 AM - 10:00 PM	
Wednesday	6:00 AM - 10:00 PM	
Thursday	6:00 AM - 10:00 PM	
Friday	6:00 AM - 10:00 PM	
Saturday	6:00 AM - 10:00 PM	
Sunday	6:00 AM=10:00 PM	

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

Weekly Timesheet

MDR Construction



Ricky Broom

UCTION Job No

FE18904697751430

Week Ending

11/11/2018

Clean up 3

Location FPU Marianna Hurr, Michael

	Men ai	nd Ho	urs					To	Totals		Totals		Totals		
Weekday	5	6	7	8	9	10	11			Meals	Other				
Employee Name	M	T	W	T	F	S	S	RT	OT	is					
Mykel Magee	16	16	16	16	16	16	16	0			Line-Groundman				
Matthew Coker	16	16	16	16	16	16	16				Line-Groundman				
Joshua Smith	16	16	16	16	16	16	16				Line-Groundman				
Hunter Guthrie	16	16	16	16	16	16	16				Line-Groundman				
Justin Guthrie	16	16	16	16	16	16	16				Line-Groundman				
		-				-	but state (ASA)								
A10 (C. V. COSAN),			-	A <del>MP2 1.1</del> 1.A	, <del></del>										
											· · · · · · · · · · · · · · · · · · ·				
		-			,,,,	I									

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Fereman, indicate this by pulling the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheat.

Additional information								
Monday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						
Tuesday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						
Wednesday	Start 6:00 am thru 10:00 pm	Work at Marlanna, FL						
Thursday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						
Friday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						
Saturday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						
Sunday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL						

List above any additional information needed. If you work on several circuits specifiy how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

Equipment #	M	mpq.						
			W	T	F	S	S	
1006 Crew cab pickup	16	16	16	16	16	16	16	. 1
1007 Crew cab pickup	16	16	16	16	16	16	16	1 Veril
850 Digger Derrick	16	16	16	16	16	16	16	1.1.10
726 Digger Demick	16	16	16	16	16	16	16	May 11 1st
52 Single Drum puller	16	16	16	16	16	16	16	F 112/10
1008 Crew Cab Pickup	16	16	16	16	16	16	16	1111
641 Digger Derrick	16	16	16	16	16	16	16	

**MDR** Construction

Weekly Timesheet